

补充题

2021年9月17日 星期五 上午9:40

极号子可拆

1. 证: $\lim_{k \rightarrow \infty} a_{k+1} = a$, $\lim_{k \rightarrow \infty} a_k = a$ 时, $\lim_{k \rightarrow \infty} a_k = a$.
 $\lim_{k \rightarrow \infty} a_{k+1} = a$, 对 $\forall \varepsilon > 0$, $\exists K_1, k > K_1, |a_{k+1} - a| < \varepsilon$.
 $\exists K_2, k > K_2, |a_k - a| < \varepsilon$.
 取 $N = \max\{K_1, K_2\} + 1$
 则 $n > N$ 时, $|a_n - a| < \varepsilon$.
2. 已知 $a > 0$, $\lim_{n \rightarrow \infty} a_n = a$.
 证: $\lim_{n \rightarrow \infty} \sqrt[n]{a_n} = \sqrt[n]{a}$.
 $|\sqrt[n]{a_n} - \sqrt[n]{a}| = \frac{|a_n - a|}{\sqrt[n]{a_n} + \sqrt[n]{a}}$
 $a > 0$. 对 $\forall \varepsilon > 0$, $\exists N, n > N$ 时, $|a_n - a| = |a_n| < \varepsilon^2$.
 $\therefore \sqrt[n]{a_n} < \varepsilon$. $\lim_{n \rightarrow \infty} \sqrt[n]{a_n} = 0 = \sqrt[n]{a}$.
 $a > 0$. $\frac{|a_n - a|}{|\sqrt[n]{a_n} + \sqrt[n]{a}|} < \frac{|a_n - a|}{\sqrt[n]{a}} < \frac{\varepsilon \cdot \sqrt[n]{a}}{\sqrt[n]{a}} = \varepsilon$.

5. $0 < a_n < 2$, $a_{n+1}(2 - a_n) \geq 1$.

证: $\{a_n\}$ 有界. 证: $\lim_{n \rightarrow \infty} a_n$.

$$2a_{n+1} - a_{n+1}a_n - 1 \geq 0 \Rightarrow a_{n+1} \geq \frac{1}{2 - a_n}$$

$$a_{n+1} - a_n \geq \frac{1}{2 - a_n} - a_n = \frac{1 - a_n(2 - a_n)}{2 - a_n} = \frac{a_n^2 - 2a_n + 1}{2 - a_n} > 0$$

极小 $a(2-a) \geq 1, a^2 - 2a + 1 > 0$

$$a_n = \frac{S_n}{n!} + \frac{S_n \cdot k_1}{2!} + \frac{S_n(2 \times 2 \times \dots)}{3!} + \dots + \frac{S_n(n!)}{n!}$$

$$a_{n+1} - a_n = \frac{S_{n+1}}{(n+1)!} + \frac{S_{n+1}(k_1+1)}{(n+1) \cdot 2!} + \dots + \frac{S_{n+1}(n!)}{(n+1)^n}$$

$$= \frac{1}{(n+1)^n} + \frac{1}{(n+1)^{n-1}} + \dots + \frac{1}{(n+1)}$$

9. $a_n > 0, \{a_n\} = \sum_{k=1}^n a_k$ 收敛于 A .

证: $P_n = \prod_{k=1}^n (1 + a_k)$ 收敛.

$$P_n = (1+a_1)(1+a_2)\dots(1+a_n)$$

$1+a_n > 1$, 有界.

对 $\forall \varepsilon > 0$, $\exists N$, 当 $n > N$ 时,

$$|a_n + a_{n+1} + \dots + a_m - A| < \varepsilon$$

$$P_n \leq (1+a_1+\dots+1+a_n)^n = \left(\frac{n+1}{n}\right)^n$$

$$= \left(1 + \frac{1}{n}\right)^n = \left(1 + \frac{1}{n}\right)^n \rightarrow \sqrt[n]{n} e$$

A_n 有界. $\forall \varepsilon > 0, \exists N, n > N$

$$1) \lim_{n \rightarrow \infty} \frac{1}{2} \times \frac{2}{3} \times \dots \times \frac{m-1}{m}$$

$$a_n = \frac{1}{2} \times \frac{2}{3} \times \dots \times \frac{m-1}{m}$$

$$a_n^2 = \left(\frac{1}{2}\right)^2 \times \left(\frac{2}{3}\right)^2 \times \dots \times \left(\frac{m-1}{m}\right)^2$$

$$< \frac{1}{2} \times \frac{2}{3} \times \frac{1}{3} \times \frac{4}{5} \times \dots \times \frac{m-1}{m} \times \frac{m}{m+1} < \frac{1}{m+1}$$

$$\therefore 0 < a^2 < \frac{1}{m+1}, 0 < a_n < \frac{1}{\sqrt{m+1}}$$

夹逼 $\rightarrow a_n \rightarrow 0$

$$\lim_{n \rightarrow \infty} (n!)^{\frac{1}{n}} = \sqrt[n]{n(n-1)\dots 1} > 1$$

$$n^{\frac{1}{n}} \sqrt[n]{n(n-1)\dots 1} < n^{\frac{1}{n}} \sqrt[n]{n \cdot n}$$

$$(n!)^{\frac{1}{n}} = e^{\frac{1}{n} \ln(n!)}$$

$$0 < \frac{1}{n} \ln(n!) \leq \frac{1}{n} \left(\frac{\ln n}{1} + \frac{\ln n}{2} + \dots + \frac{\ln n}{n} \right)$$

$$\frac{1}{n} \ln(n(n-1)\dots 2 \times 1) = \frac{\ln n + \ln(n-1) + \dots + \ln 2 + \ln 1}{n}$$

$$= \frac{1}{n} \left(\frac{\ln n}{1} + \frac{\ln(n-1)}{2} + \dots + \frac{\ln 2}{\frac{n}{2}} + \frac{\ln 1}{\frac{n}{2}} \right)$$

$$\leq \frac{1}{n} \left(\frac{\ln n}{1} + \frac{\ln(n-1)}{1} + \dots + \frac{\ln 2}{2} + \frac{\ln 1}{1} \right)$$

$$\lim_{n \rightarrow \infty} \frac{\ln n}{n} = 0, \lim_{n \rightarrow \infty} \frac{1}{n} \left(\frac{\ln 1}{1} + \frac{\ln 2}{2} + \dots + \frac{\ln n}{n} \right) = 0$$

16. $\lim_{n \rightarrow \infty} \sqrt[n]{a_n} = a < 1$, $\lim_{n \rightarrow \infty} a_n = 0$

证: $\forall \varepsilon > 0, \exists N, n > N$ 时, $\sqrt[n]{a_n} < a + \varepsilon < 1$.

$$0 < a_n < S^n < 1$$

$$\lim_{n \rightarrow \infty} S^n = 0$$

$$\lim_{n \rightarrow \infty} \frac{b_{n+1}}{b_n} = b < 1, \lim_{n \rightarrow \infty} b_n = 0$$

证: $\lim_{n \rightarrow \infty} \frac{b_{n+1}}{b_n} = r$,

$$\lim_{n \rightarrow \infty} \sqrt[n]{b_n} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{b_n}{b_{n-1}} \cdot \frac{b_{n-1}}{b_{n-2}} \cdot \dots \cdot \frac{b_1}{b_0}}$$

$$= \lim_{n \rightarrow \infty} \sqrt[n]{r^n} = r$$

$$\lim_{n \rightarrow \infty} b_n = \lim_{n \rightarrow \infty} \frac{b_n}{b_{n-1}} \cdot \frac{b_{n-1}}{b_{n-2}} \cdot \dots \cdot \frac{b_1}{b_0}$$

$$= \lim_{n \rightarrow \infty} b^n \cdot b_1 = 0$$

17. $\lim_{n \rightarrow \infty} \frac{n^n}{3^n \cdot n!} = \lim_{n \rightarrow \infty} \frac{C_{n+1}}{C_n}$

$$\lim_{n \rightarrow \infty} \frac{C_{n+1}}{C_n} = \lim_{n \rightarrow \infty} \frac{(1 + \frac{1}{n})^n}{3} = \frac{e}{3} < 1$$

$$\therefore \lim_{n \rightarrow \infty} C_n = \lim_{n \rightarrow \infty} \frac{n^n}{3^n \cdot n!} = 0$$

$$\lim_{n \rightarrow \infty} \frac{n}{a^n}, a > 1. \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} = \frac{n+1}{a^n} = \frac{1}{a} < 1$$

18. $\lim_{n \rightarrow \infty} a_n = a, \lim_{n \rightarrow \infty} b_n = b, \lim_{n \rightarrow \infty} \frac{a_1 b_1 + a_2 b_2 + \dots + a_n b_n}{n} = ab$

$$A = \lim_{n \rightarrow \infty} \frac{a_1 b_1 + a_2 b_2 + \dots + a_n b_n}{n}$$

$$= \lim_{n \rightarrow \infty} \frac{a_1 + a_2 + \dots + a_n}{n} \cdot b + \lim_{n \rightarrow \infty} \frac{a_1(b_1 - b) + a_2(b_2 - b) + \dots + a_n(b_n - b)}{n}$$

$$= \lim_{n \rightarrow \infty} \frac{a_1 + a_2 + \dots + a_n}{n} \cdot b + \lim_{n \rightarrow \infty} \frac{|b_1 - b| + |b_2 - b| + \dots + |b_n - b|}{n}$$

$$= b \lim_{n \rightarrow \infty} \frac{a_{n+1}}{1} = ab. = \lim_{n \rightarrow \infty} \frac{|b_1 - b| + \dots + |b_n - b|}{n} = 0$$

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{1} = a$$

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{1} = a$$

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{1} = a$$

9.17

1. 证: $\lim_{n \rightarrow \infty} \sqrt[n]{n} = \lim_{n \rightarrow \infty} n^{\frac{1}{n}} = 1$.

$$2. a_n = \sum_{k=1}^n \frac{k^2}{n^3 + kn}, \text{ 证 } \lim_{n \rightarrow \infty} a_n$$

$$2. a_n = \frac{1^2}{n^3+n} + \frac{2^2}{n^3+2n} + \dots + \frac{n^2}{n^3+n^2}$$

$$\sum_{k=1}^n \frac{k^2}{n^3+n^2} = a_n \leq \sum_{k=1}^n \frac{k^2}{n^2} \rightarrow \text{取 } \frac{k}{n} \rightarrow \text{取 } \frac{k}{n} \rightarrow \text{取 } \frac{k}{n}$$

$$\therefore \frac{1}{b} \frac{n(n+1)(2n+1)}{n^3} \leq a_n \leq \frac{1}{b} \frac{n(n+1)(2n+1)}{n^3}$$

$$\therefore \frac{1}{b} \left(2 + \frac{1}{n}\right) \leq a_n \leq \frac{1}{b} \left(1 + \frac{1}{n}\right) \left(2 + \frac{1}{n}\right)$$

$$\lim_{n \rightarrow \infty} b_n = \frac{1}{3}, \lim_{n \rightarrow \infty} c_n = \frac{1}{3}, b_n \in a_n \in c_n$$

$$\therefore \lim_{n \rightarrow \infty} a_n = \frac{1}{3}$$

3. $\lim_{n \rightarrow \infty} \sqrt[n]{a} = 1$.

$$\text{例 } e_n = \left(1 + \frac{1}{n}\right)^n, c_n = \left(1 + \frac{1}{n}\right)^{n+1}$$

证: $e_n < e_{n+1} < c_{n+1} < c_n$.

$$\text{证明: } e_n = \left(1 + \frac{1}{n}\right)^n < \left(\frac{n+1}{n}\right)^{n+1}$$

$$= \left(1 + \frac{1}{n+1}\right)^{n+1} = e_{n+1}$$

$$\frac{1}{c_n} = \left(\frac{n}{n+1}\right)^{n+1} < \left(\frac{n}{n+2}\right)^{n+2}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

$$= \left(\frac{n+1}{n+2}\right)^{n+2} = \frac{1}{c_{n+1}}$$

补充 $(1 + \frac{1}{n})^n < e < (1 + \frac{1}{n})^{n+1}$

$$\textcircled{1} \frac{1}{n+1} < \ln\left(1 + \frac{1}{n}\right) < \frac{1}{n}$$

$$\textcircled{2} \lim_{n \rightarrow \infty} \frac{n!}{n^n} = \frac{1}{e}$$

$$\textcircled{1} \text{证 } e_n = \left(1 + \frac{1}{n}\right)^n = 1 \cdot \left(1 + \frac{1}{n}\right) \left(1 + \frac{1}{n}\right) \dots \left(1 + \frac{1}{n}\right)$$

$$\leq \left(\frac{1 + \frac{1}{n} + 1 + \frac{1}{n} + \dots + 1 + \frac{1}{n}}{n}\right)^n$$

$$= \left(\frac{n+1 + n \cdot \frac{1}{n}}{n}\right)^n = \left(1 + \frac{1}{n+1}\right)^{n+1} = e_{n+1}$$

\therefore 数列 $\{e_n\}$ 递增.

$$\therefore \lim_{n \rightarrow \infty} \left(1 + \frac{1}{n}\right)^n = e \text{ (定义)}, \therefore \left(1 + \frac{1}{n}\right)^n < e$$

$$n < [n] + 1 \leq n+1$$

$$\frac{1}{n+1} + 1 \leq \frac{1}{[n] + 1} + 1 < \frac{1}{n} + 1$$

$$\left(\frac{1}{n+1} + 1\right)^n < \left(\frac{1}{n} + 1\right)^n < \left(\frac{1}{n} + 1\right)^{n+1} = \left(\frac{1}{n} + 1\right)^n \cdot \left(\frac{1}{n} + 1\right)$$

$$\left(\frac{1}{n+1} + 1\right)^{n+1} \cdot \left(\frac{1}{n+1} + 1\right)^{-1}$$

$$\therefore \lim_{n \rightarrow \infty} \left(\frac{1}{n+1} + 1\right)^{n+1} < \lim_{n \rightarrow \infty} \left(\frac{1}{n} + 1\right)^n < \lim_{n \rightarrow \infty} \left(\frac{1}{n} + 1\right)^{n+1}$$

$$\therefore e < \left(\frac{1}{n} + 1\right)^{n+1}$$

$\textcircled{2}$ 这题建议构造函数求导.

要不就是微积分 (但我只知道 $\ln n$)

$$\textcircled{3} \left(1 + \frac{1}{n}\right)^n < e < \left(1 + \frac{1}{n}\right)^{n+1}$$

$$\left(\frac{n+1}{n}\right)^n < e < \left(\frac{n+1}{n}\right)^{n+1}$$

$$\frac{(n+1)^n}{n^n} < e < \frac{(n+1)^{n+1}}{n^{n+1}}$$

$$\text{证 } e_n = \left(1 + \frac{1}{n}\right)^n = 1 \cdot \left(1 + \frac{1}{n}\right) \left(1 + \frac{1}{n}\right) \dots \left(1 + \frac{1}{n}\right)$$

$$\leq \left(\frac{1 + \frac{1}{n} + 1 + \frac{1}{n} + \dots + 1 + \frac{1}{n}}{n}\right)^n$$

$$= \left(\frac{n+1 + n \cdot \frac{1}{n}}{n}\right)^n = \left(1 + \frac{1}{n+1}\right)^{n+1} = e_{n+1}$$

\therefore 数列 $\{e_n\}$ 递增.

$$\therefore \lim_{n \rightarrow \infty} \left(1 + \frac{1}{n}\right)^n = e \text{ (定义)}, \therefore \left(1 + \frac{1}{n}\right)^n < e$$

$$\text{证 } d_n = \left(1 + \frac{1}{n}\right)^{n+1}, \frac{1}{d_n} = \left(\frac{n}{n+1}\right)^{n+1}$$

$$\frac{1}{d_n} = \left(\frac{n}{n+1}\right)^{n+1} < \frac{1}{d_{n+1}} \text{ 反正要证 } d_n \text{ 或 } \frac{1}{d_n} \text{ 增}$$

$$n < n+1, \frac{1}{n+1} < \frac{1}{n}$$

$$\left(\frac{1}{n+1} + 1\right)^n < \left(\frac{1}{n} + 1\right)^n < \left(\frac{1}{n} + 1\right)^{n+1} = \left(\frac{1}{n} + 1\right)^n \cdot \left(\frac{1}{n} + 1\right)$$

$$\left(\frac{1}{n+1} + 1\right)^{n+1} \cdot \left(\frac{1}{n+1} + 1\right)^{-1}$$

$$\therefore \lim_{n \rightarrow \infty} \left(\frac{1}{n+1} + 1\right)^{n+1} < \lim_{n \rightarrow \infty} \left(\frac{1}{n} + 1\right)^n < \lim_{n \rightarrow$$